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TNPSC GROUP I – TEST BATCH 2022 
TEST X – GENERAL SCIENCE AND APTITUDE AND MENTAL ABILITY 

 
1. Consider the following 

Assertion (A): 0 °C = 273.16 K. For our convenience we take °C = 273K after rounding off  
the decimal  

 Reason (R): To convert a temperature on the Celsius scale you have to add 273 to the  
given temperature 

 a. Both (A)  and (R) are true but (R) is not the correct reason 
 b. Both (A)  and (R) are true and (R) is the correct reason 
 c. (A) is true but (R) is false 
 d. (A)  is false but (R) is true  
 e. Answer not known 
 gpd;tUtdtw;iw Ma;f 

$w;W (A): 0°C = 273.16 K  ehk; mij KO vz;zhf 273 K vd vLj;Jf; nfhs;fpNwhk;  
 fhuzk; (R): nry;rpa]; msit nfy;tpd; mstpw;F khw;Wk;NghJ 273If; $l;bdhy;  

NghJkhdJ 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ rhpahd tpsf;fk; my;y  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ rhpahd tpsf;fk;  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
2. Consider the following  

Assertion: Displacement of a body may be zero when distance travelled by it is not zero. 
 Reason:  The displacement is the shortest distance between initial and final position. 

a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): xU nghUspd; ,lg;ngah;r;rp Rop Mdhy; mg;nghUs; fle;j J}uk; Rop ,y;iy.  
fhuzk; (R): ,lg;ngah;r;rp njhlf;f epiyf;Fk; KbT epiyf;Fk; ,ilNa cs;s FWfpa 
ghij MFk;.  
a. (A) kw;Wk; (R) ,uz;Lk; rhp> kw;Wk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> kw;Wk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
3. Clouds float in atmosphere because of their low  

 a. density   b. pressure    c. velocity    
d. mass   e. Answer not known 
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 tspkz;lyj;jpy; Nkfq;fs; kpjg;gjw;F> mtw;wpd;> Fiwe;j _______  fhuzkhFk;.  
 a. mlh;j;jp  b. mOj;jk;   c. jpirNtfk;   

d. epiw   e. tpil njhpatpy;iy 
 

4. In a pressure cooker, the food is cooked faster because  
a. increased pressure lowers the boiling point.  
b. increased pressure raises the boiling point.  
c. decreased pressure raises the boiling point.  
d. increased pressure lowers the melting point.  
e. Answer not known 
mOj;j rikaw;fydpy; czT tpiuthf rikf;fg;gLtjw;Ff; fhuzk;> mjDila  
a. mjpfhpf;fg;gl;l mOj;jk; nfhjp epiyiaf; Fiwf;fpwJ.  
b. mjpfhpf;fg;gl;l mOj;jk; nfhjp epiyia cah;j;JfpwJ.  
c. Fiwf;fg;gl;l mOj;jk; nfhjp epiyia cah;j;JfpwJ.  
d. mjpfhpf;fg;gl;l mOj;jk; cUF epiyiaf; Fiwf;fpwJ.  
e. tpil njhpatpy;iy 

 
5. Rubbing of comb with hair  

 a. creates electric charge  b. transfers electric charge  c. either (a) or (b)    
 d. neither (a) nor (b)  e. Answer not known 
 rPg;gpdhy; jiyKbiaf; NfhJtjdhy;  
 a. kpd;D}l;lq;fs; cUthf;fg;gLfpd;wd.  b. kpd;D}l;lq;fs; ,lk;ngah;fpd;wd.  
 c. a kw;Wk; b      d. ,uz;Lk; my;y  

e. tpil njhpatpy;iy 
 

6. Electroplating is an example for  
 a. heating effect   b. chemical effect  c. flowing effect    

d. magnetic effect   e. Answer not known 
 kpd;Kyhk; G+Rjy; vjw;F vLj;Jf;fhl;L?  
 a. ntg;gtpisT   b. Ntjp tpisT  c. gha;T tpisT   

d. fhe;j tpisT   e. tpil njhpatpy;iy 
 

7. Match the following 
A. Electric charge     1. ohm  
B. Potential difference    2. ampere  
C. Electric field     3. coulomb  
D. Resistance     4.  newton coulomb-1 
E. Electric current     5.  volt 
 A B C D E 
a. 3 5 4 1 2 
b. 3 5 4 2 1 
c. 3 4 5 2 1 
d. 4 3 5 1 2 
e. Answer not known 
nghUj;Jf:  
A. kpd;D}l;lk;    1. Xk;  
B. kpd;dOj;j NtWghL   2. Mk;gpah;  
C. kpd;Gyk;     3. $Y}k;  
D. kpd;jil     4. epA+l;ld; $Y}k;-1  
E. kpd;Ndhl;lk;    5. Nthy;l;  
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A B C D E 
a. 3 5 4 1 2 
b. 3 5 4 2 1 
c. 3 4 5 2 1 
d. 4 3 5 1 2 
e. tpil njhpatpy;iy 

 
8. The unit of magnetic flux density is  

 a. Weber    b. weber / metre   c. weber / meter2    
 d. weber. meter2   e. Answer not known 
 fhe;jg; gha mlh;j;jpapd; myF  
 a. ntgh;    b. ntgh; / kPl;lh;   c. ntgh; / kPl;lh;2    
 d. ntgh; kPl;lh;2   e. tpil njhpatpy;iy 
 

9. Sound travels in air:  
 a. if there is no moisture in the atmosphere.  
 b. if particles of medium travel from one place to another.  
 c. if both particles as well as disturbance move from one place to another.  
 d. if disturbance moves.  

e. Answer not known 
 fhw;wpy; vg;nghOJ xyp gazpf;Fk;?  
 a. fhw;wpy; <ug;gjk; ,y;yhjNghJ  
 b. Jfs;fs; xU ,lj;jpypUe;J kw;nwhU ,lj;jpw;F efUk; NghJ  
 c. Jfs;fSk; mjph;TfSk; xU ,lj;jpypUe;J Ntwplj;jpw;F efUk; NghJ  
 d. mjph;Tfs; efUk; NghJ  
 e. tpil njhpatpy;iy 
 
10. A phenomenon in which an element exists in different modification in same physical 

state is called  
 a. isomerism   b. allotropy   c. catenation  

d. crystallinity  e. Answer not known 
 xU jdpkk; NtWgl;l mikg;igAk;> xNu %yf;$W tha;g;ghl;ilAk;  nfhz;bUg;gJ.  
 a. khw;wpak;    b. GwNtw;Wik tbtk; c. rq;fpypj; njhluhf;fk;   

d. gbfkhf;fy;   e. tpil njhpatpy;iy 
 
11. Graphene is one atom thick layer of carbon obtained from  
 a. diamond  b. fullerene   c. graphite   

d. gas carbon  e. Answer not known 
 XuLf;Ff; fhh;gd; mZf;fshy; Md fpuh/gPd; vjpypUe;J fpilf;fpwJ?  
 a. ituk;  b. /Gy;yhpd;    c. fpuh/igl;   

d. thA fhh;gd;  e. tpil njhpatpy;iy 
 
12. Which of the following does not contain natural dyes?  
 a. Potato    b. Beetroot     c. Carrot    

d. Turmeric    e. Answer not known  
 gpd;tUtdtw;Ws; vJ ,aw;ifr; rhak; ,y;iy?  
 a. cUisf;fpoq;F   b. gPl;Ul;     c. Nful;  

d. kQ;rs;    e. tpil njhpatpy;iy 
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13. The chemical reaction occurs during photosynthesis is _____. 
 a. CO2 is reduced and water is oxidized 
 b. water is reduced and CO2 is oxidized 
 c. both CO2 and water are oxidized 
 d. both CO2 and water are produced 

e. Answer not known 
 xspr;Nrh;f;ifapd; NghJ eilngWk; Ntjp tpid  
 a. CO2 xLf;fkiljy; kw;Wk; O2 Mf;]pfuzk; miljy; 
 b. ePh; xLf;fkiljy; kw;Wk; CO2 Mf;]pfuzk; miljy;  
 c. ePh; kw;Wk; CO2 ,uz;LNk Mf;]pfudk; miljy;  
 d. CO2 kw;Wk; ePh; ,uz;LNk cw;gj;jp nra;ag;gLfpd;wd.  
 e. tpil njhpatpy;iy 
 

14. Food and Adulteration Act was enforced by Government of India in the year ________.  
 a. 1964  b. 1954    c. 1950   

d. 1963   e. Answer not known 
 kj;jpa murpd; czT kw;Wk; czTf; fyg;glr; rl;lk; ,aw;wg;gl;l Mz;L  
 a. 1964  b. 1954    c. 1950   

d. 1963   e. tpil njhpatpy;iy 
 

15. Match the following.  
 Column A    Column B  
 A.  Calcium    1. Muscular fatigue  
 B. Sodium    2. Anaemia  
 C. Potassium   3. Osteoporosis  
 D. Iron    4. Goitre  
 E. Iodine    5. Muscular cramps  
  A B C D E 
 a. 3 5 2 1 4 
 b. 3 5 1 2 4 
 c. 1 2 3 4 5 
 d. 5 1 3 2 4 

e. Answer not known 
 nghUj;Jf:  
 A. fhy;rpak;    1. jirr;Nrhh;T  
 B. Nrhbak;    2. ,uj;j Nrhif  
 C. nghl;lhrpak;   3. M];bNah NghNuhrp];  
 D. ,Uk;G    4. Kd; fUj;Jf; foiy  
 E. mNahbd;    5. jirg;gpbg;Gfs;  
  A B C D E 
 a. 3 5 2 1 4 
 b. 3 5 1 2 4 
 c. 1 2 3 4 5 
 d. 5 1 3 2 4 

e. tpil njhpatpy;iy 
 

16. Poliomyelitis virus enters the body through  
 a. skin   b. mouth and nose   c. ears   

d. eye   e. Answer not known 
NghypNahikypb]; itu]hdJ  ,t;topahf clypDs; nry;fpwJ.  

 a. Njhy;  b. tha; kw;Wk; %f;F  c. fhJfs;  
d. fz;   e. tpil njhpatpy;iy 
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17. __________ is the method of growing plants without soil.  
 a. Horticulture   b. Hydroponics  c. Pomology    

d. Heteroponics   e. Answer not known 
 kz;zpy;yhky; jhtuq;fis tsh;f;Fk; Kiw __________.  
 a. Njhl;lf;fiy   b. i`l;NuhNghdpf;]; c. Nghkhy[p     

d. n`l;bNuhNghdpf;]; e. tpil njhpatpy;iy 
 
18. Increased amount of _______________ in the atmosphere, results in greenhouse effect 

and global warming  
a. carbon monoxide   b. sulphur dioxide    c. nitrogen dioxide    
d. carbon dioxide  e. Answer not known 
________ d; msT tspkz;lyj;jpy; cah;tjd; tpisthf gRik tPl;L tpisTk; Gtp 
ntg;gkakhjYk; Vw;gLfpd;wd.  
a. fhh;gd; Nkhdhf;irL  b. fe;jf il Mf;i]L   c. iel;u[d; il Mf;i]L  
d. fhpakpy thA   e. tpil njhpatpy;iy 

 
19. Impulse is equals to  

a. rate of change of momentum  b. rate of force and time  
c. change of momentum  d. rate of change of mass  
e. Answer not known 

 fzj;jhf;F fPo;fz;ltw;Ws; vjw;Fr; rkkhdJ 
 a. ce;j khw;W tPjk;   b.tpir kw;Wk; fhy khw;w tPjk; 
 c. ce;j khw;wk;   d. epiw tPj khw;wk;  

e. tpil njhpatpy;iy 
 

20. One kilogram force equals to  
a. 9.8 dyne    b. 9.8 × 104 N    c. 98 × 104 dyne    
d. 980 dyne    e. Answer not known 
xU fpNyhfpuhk; vil vd;gJ w;F rkkhFk;.  
a. 9.8 ild;    b. 9.8 × 104 N   c. 98 × 104 ild;   
d. 980 ild;   e. tpil njhpatpy;iy 

  
21. The mass of a body is measured on planet Earth as M kg. When it is taken to a planet of 

radius half that of the Earth then its value will be____ kg  
a. 4 M   b. 2M  c. M/4   d. M  e. Answer not known 
Gtpapy; M epiw nfhz;l nghUs; xd;W Gtpapd; Muj;jpy; ghjp msT Muk; nfhz;l 
Nfhs; xd;wpw;F vLj;Jr; nry;yg;gLfpwJ.  mq;F mjd; epiw kjpg;G. 
a. 4 M   b. 2M  c. M/4   d. M  e. tpil njhpatpy;iy 

 
22. If the Earth shrinks to 50% of its real radius its mass remaining the same, the weight of a 

body on the Earth will  
a. decrease by 50%   b. increase by 50%   c. decrease by 25%    
d. increase by 300%  e. Answer not known 
epiw kjpg;G khwhky; GtpahdJ jdJ Muj;jpy; 50% RUq;fpdhy; Gtpapy; nghUl;fspd; 
vilahdJ? 
a. 50% FiwAk;  b. 50% mjpfhpf;Fk;  c. 25% FiwAk;   
d. 300% mjpfhpf;Fk;  e. tpil njhpatpy;iy 
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23. Consider the following  
Assertion (A): The value of ‘g’ decreases as height increases from the surface of the  

Earth.  
 Reason (R): ‘g’ depends on the mass of the Earth. 

a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W (A) : ‘g’ d; kjpg;G Gtpg;gug;gpy; ,Ue;J caNu nry;y FiwAk;.  
fhuzk; (R) : ‘g’ kjpg;ghdJ Gtpg;gug;gpy; Gtpapy; epiwapidr; rhh;e;J mikfpwJ. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
24. Power of a lens is –4D, then its focal length is  

a. 4m    b. –40m    c. –0.25 m    
d. –2.5 m   e. Answer not known 

 xU nyd;rpd; jpwd; 4D vdpy; mjd; Ftpaj; njhiyT  
 a. 4 kP   b. –40 kP    c. –0.25 kP    

d. –2.5 kP  e. tpil njhpatpy;iy 
 
25. The value of universal gas constant  

a. 3.81 mol–1 K–1   b. 8.03J mol–1 K–1    c. 1.38 mol–1 K–1    
d. 8.31J mol–1 K–1   e. Answer not known 
nghJ thA khwpypapd; kjpg;G 
a. 3.81 Nkhy;-1 K–1   b. 8.03J Nkhy;-1 K–1    c. 1.38 Nkhy;-1 K–1    
d. 8.31J Nkhy;-1K–1   e. tpil njhpatpy;iy 

 
26. The sum of a two digit number and the number formed by interchanging the digits is 

110. If 10 is subtracted from the first number, the new number is 4 more than 5 times the 
sums of the digits of the first number. Find the first number.  
a.64  b.37  c.55  d.72  e. Answer not known 
Xh; <upyf;f vz;izAk; mjd; ,yf;fq;fis khw;Wtjhy; fpilf;Fk; vz;izAk; 
$l;bdhy; 110 fpilf;Fk;. nfhLf;fg;gl;l me;j <hpyf;f vz;zpypUe;J 10 If; fopj;jhy; 
mJ nfhLf;fg;gl;l <upyf;f vz;zpd; ,yf;fq;fspd; $Ljypd; 5 klq;if tpl 4 mjpfk; 
vdpy;> me;j vz;izf; fhz;f. 
a.64  b.37  c.55  d.72  e. tpil njhpatpy;iy 

 

27. Express 0.245̅̅̅̅  into fraction 

a. 
27

9
  b. 

27

100
  c. 

27

99
   d. 

27

110
  e. Answer not known 

0.245̅̅̅̅   vd;w vz;iz gpd;dkhf khw;Wf. 

a. 
27

9
  b. 

27

100
  c. 

27

99
   d. 

27

110
  e. tpil njhpatpy;iy 

    
28. ( - 16) ÷ 4 is not same as 

a. (-4) ÷ 16  b. – (16 ÷ 4)   c. 16 ÷  (-4)   
d. – 4    e. Answer not known 
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( - 16) ÷ 4 f;F rkkpy;yhjJ vJ? 
a. (-4) ÷ 16  b. – (16 ÷ 4)   c. 16 ÷  (-4)   
d. – 4    e. tpil njhpatpy;iy 

 
29. Find the missing term in the series:  

3, 7, 6, 5, 9, 3, 12, 1, 15, ? 
a.  18  b. 13  c. -1  d. 3  e. Answer not known 
njhlhpy; tpLg;gl;l vz;izf; fhz;f:  
3, 7, 6, 5, 9, 3, 12, 1, 15, ? 
a.  18  b. 13  c. -1  d. 3  e. tpil njhpatpy;iy 

 
30. Ferozkhan collects `1150 at the rate of ` 25 per head from his classmates on account of the 

'Flag Day' in his school and returns ` 8 to each one of them, as instructed by his teacher. 
Find the amount handed over by him to his teacher. 
a. Rs. 368  b. Rs. 693   c. Rs. 782   
d. Rs. 1000  e. Answer not known 
nfhbjpdj;ij Kd;dpl;Lg; ngNuh];fhd; jd; tFg;Gj; Njhoh;fs; xt;nthUtuplKk; jyh 
Rs. 25 tPjk; nkhj;jk; Rs. 1150 t#ypf;fpwhd;. Mrphpahpd; mwpTWj;jypd;gb> xt;nthU 
khztUf;Fk; Rs.8 jpUg;gpj; jUfpd;whd; vdpy;> Mrpupauplk; xg;gilj;jj; njhifapidf; 
fhz;f. 
a. Rs. 368  b. Rs. 693   c. Rs. 782   
d. Rs. 1000  e. tpil njhpatpy;iy 

 
31. If a substance is heated or cooled, the change in mass of that substance is  

a. positive    b. negative    c. zero    
d. none of the above  e. Answer not known 
xU nghUis ntg;gg;gLj;jpdhNyh my;yJ Fsph;tpj;jhNyh mg;nghUspd; epiwapy; 
Vw;gLk; khw;wk; 
a. Neh;f;Fwp   b. vjph;f;Fwp   c. Rop    

d. ,tw;wpy; vJTkpy;iy e. tpil njhpatpy;iy 
 
32. Consider the following 

Assertion: Gas is highly compressible than solid and liquid 
Reason: Interatomic or intermolecular distance in the gas is comparably high. 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 

  gpd;tUk; $w;Wfis Muha;f.   
$w;W (A) : jpl kw;Wk; jput nghUs;fis tpl thA nghUl;fs; mjpf mKf;fj;jpw;F 
cl;gLk;. 
fhuzk; (R) : mZf;fs; my;yJ %yf;$WfSf;F ,ilNa cs;s njhiyT xg;gplj; 
jFe;j tifapy; mjpfk;. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
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33. Which of the following is correct?  
a. Rate of change of charge is electrical power.  
b. Rate of change of charge is current.  
c. Rate of change of energy is current.  
d. Rate of change of current is charge.  
e. Answer not known 
fPo;fz;ltw;Ws; vJ rhpahdJ? 
a. kpd;D}l;lk; ghAk; tPjk; kpd; jpwd; 
b. kpd;D}l;lk; ghAk; tPjk; kpd;Ndhl;lk; 
c.  kpd;dhw;wy; khWk; tPjk; kpd;Ndhl;lk; 
d. kpd;Ndhl;lk; khWk; tPjk; kpd;D}l;lk; 
e. tpil njhpatpy;iy 

 
34. Consider the following  

Assertion: Sound travels faster in solids than in gases.  
Reason: Solid possess a greater density than that of gases. 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : xyp thAf;fis tpl jplg;nghUspy; Ntfkhfr; nry;Yk;. 
fhuzk; (R) : jplg;nghUspd; mlh;j;jp> thAf;fis tpl mjpfk;. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
 

35. Unit of radioactivity is _____________  
a. roentgen    b. curie    c. becquerel    
d. all the above   e. Answer not known 

 fjphpaf;fj;jpd; myF _________ 
 a. uhz;l;[d;   b. fpa+hp   c. ngf;nfhuy;   

d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 
36. Which of the following statements is/are correct?  

i. α particles are photons  
ii. Penetrating power of γ radiation is very low  
iii. Ionization power is maximum for α rays  
iv. Penetrating power of γ radiation is very high  
a. (i) & (ii) are correct  b. (ii) & (iii) are correct   c. (iii) & (iv) are correct  
d. All of these  e. Answer not known 
fPo;fz;l ve;jf; $w;W my;yJ $w;Wfs; rhpahdit? 
i. α Jfs;fs; vd;git /Nghl;lhd;fs;  
ii. fhkhf; fjphpaf;fj;jpd; CLUTj; jpwd; FiwT 
iii. α Jfs;fspd; madpahf;Fk; jpwd; mjpfk; 
iv. fhkhf; fjph;fspd; CLUTj;jpwd; kpf mjpfk; 
a. (i) kw;Wk;  (ii) rhp  b. (ii) kw;Wk; (iii) rhp   c. (iii) kw;Wk;  (iv) rhp 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy  
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37. Proton - Proton chain reaction is an example of _________  
a. Nuclear fission   b. α - decay    c. Nuclear fusion    
d. β - decay    e. Answer not known 

 GNuhl;lhd; - GNuhl;lhd; njhlh;tpidf;F vLj;Jf;fhl;L  
 a. mZf;fU gpsT  b. My;ghr; rpijT  c. mZf;fU ,izT 
 d. gPl;lhr; rpijT  e. tpil njhpatpy;iy 
 
38. Which of the following is/are correct?  

i. Chain reaction takes place in a nuclear reactor and an atomic bomb.  
ii. The chain reaction in a nuclear reactor is controlled  
iii. The chain reaction in a nuclear reactor is not controlled 
iv. No chain reaction takes place in an atom bomb  
a. All of these   b. (i) & (ii) are correct   c. (iv) only correct   
d. (iii) & (iv) are correct  e. Answer not known 
fPo;f;fz;l ve;jf; $w;W my;yJ $w;Wfs; rhpahdit. 
i. mZf;fU ciy kw;Wk; mZFz;L mfpatw;wpy; njhlh; tpid  epfOk;. 
ii. mZf;fU ciyapy; fl;Lg;gLj;jg;gl;l njhlh;tpid epfOk; 
iii. mZf;fU ciyapy; fl;Lg;ghlw;w njhlh;tpid epfOk; 
iv. mZFz;L ntbj;jypy; njhlh;tpid epfohJ 
 a. Nkw;$wpa midj;Jk; b. (i) kw;Wk;  (ii) rhp    c. (iv) kl;Lk; rhp    
d. (iii) kw;Wk;  (iv) rhp   e. tpil njhpatpy;iy 

   
39. Match the following  

A. BARC       1. Kalpakkam  
B. India’s first atomic power station  2. Apsara 
C. IGCAR      3. Mumbai  
D. First nuclear reactor in India   4. Tarapur  
 A B C D 
a. 4 3 1 2 
b. 3 4 1 2 
c. 2 3 1 4 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf:  
A. BARC      1. fy;ghf;fk; 
B. ,e;jpahtpd; Kjy; mZkpd; epiyak; 2. mg;ruh 
C. IGCAR     3. Kk;ig 
D. ,e;jpahtpd; Kjy; mZf;fU ciy  4. jhuhg;g+h; 
 A B C D 
a. 4 3 1 2 
b. 3 4 1 2 
c. 2 3 1 4 
d. 1 2 3 4 

 e. tpil njhpatpy;iy 
 
40. Match the following:  

A. Soddy Fajan   1. Natural radioactivity  
B. Irene Curie   2. Displacement law  
C. Henry Bequerel   3. Mass energy equivalence  
D. Albert Einstein   4. Artificial Radioactivity  
 



 

10 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 2 4 1 3 
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf: 
A. rhb/g[d;   1. ,aw;iff; fjphpaf;fk; 
B. Ihpd; fpa+hp   2. ,lg;ngah;r;rp tpjp 
C. n`d;wp ngf;nfhuy; 3. epiw Mw;wy; rkd;ghL 
D. My;gh;l; Id;];Bd; 4. nraw;iff; fjphpaf;fk; 
 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 2 4 1 3 
d. 2 3 4 1 

 e. tpil njhpatpy;iy 
 
41. Arrange in descending order, on the basis of their penetration power 

1. Alpha rays  2. beta rays  3. gamma rays 4. cosmic rays  
 a. 3, 2, 1, 4  b. 3, 1, 2, 4   c. 3, 4, 1, 2   

d. 1, 2, 3, 4  e. Answer not known 
CLUT jpwdpd; mbg;gilapy; ,wq;F thpirapy; vOJf. 

 1. My;ghf; fjph;fs;  2. gPl;lhf; fjph;fs;  3. fhkhf; fjph;fs;  4. fh];kpf; fjph;fs; 
    a. 3, 2, 1, 4  b. 3, 1, 2, 4   c. 3, 4, 1, 2   

d. 1, 2, 3, 4  e. tpil njhpatpy;iy 
 
42. Chemical formula of rust is ________.  

a. FeO. × H2O   b. FeO4. × H2O   c. Fe2O3. × H2O   
d. FeO    e. Answer not known 
JUtpd; tha;g;ghL _____ 
a. FeO. × H2O   b. FeO4. × H2O   c. Fe2O3. × H2O   
d. FeO    e. tpil njhpatpy;iy 

  
43. Consider the following 

Assertion (A): Magnesium is used to protect steel from rusting  
Reason (R) : Magnesium is more reactive than iron  
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W: nkf;dPrpaj;ij ,Uk;gpd; kPJ g+Rtjhy;> JUg;gpbj;jypUe;J ghJfhf;fg;gLfpwJ. 
fhuzk;: nkf;dPrpak;> ,Uk;igtpl tpidGhpAk; jd;ikkpf;fJ.  
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
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44. Match the following  
A. Blue vitriol     1. CaSO4 .2H2O  
B. Gypsum      2. CaO  
C. Deliquescence     3. CuSO4.5H2O  
D. Hygroscopic     4. NaOH 
 A B C D 
a. 3 1 2 4 
b. 1 2 3 4 
c. 4 3 1 2 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf: 
A. ePy tpl;hpahy;    1. CaSO4 .2H2O 
B. [pg;rk;     2. CaO 
C. <uk; cwpQ;rpf; fiugit   3. CuSO4.5H2O 
D. <uk; cwpQ;rp     4. NaOH 
 A B C D 
a. 3 1 2 4 
b. 1 2 3 4 
c. 4 3 1 2 
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
45. Powdered CaCO3 reacts more rapidly than flaky CaCO3 because of ________.  

a. large surface area  b. high pressure   c. high concentration    
d. high temperature  e. Answer not known 
J}shf;fg;gl;l CaCO3  fl;bahd CaCO3 tpl jPtpukhf tpidGhpfpwJ. fhuzk; 
a. mjpf Gwg;gug;gsT b. mjpf mOj;jk;  c. mjpf nrwptpdhy;    
d. mjpf ntg;gepiy  e. tpil njhpatpy;iy 

 
46. Kreb’s cycle takes place in  

a. chloroplast     b. mitochondrial matrix   c. stomata  
d. inner mitochondrial membrane  e. Answer not known    
fpug; Row;rp ,q;F eilngWfpwJ. 
a. gRq;fzpfk;    b. ikl;Nlhfhz;l;hpahtpd; cl;gFjp  
c. ,iyj;Jis    d. ikl;Nlh fhz;l;hpahtpd; cl;Gwr;rt;T 
e. tpil njhpatpy;iy 

 

47. Oxygen is produced at what point during photosynthesis?  
a. when ATP is converted to ADP  b. when CO2 is fixed  
c. when H2O is splitted    d. All of these  
e. Answer not known 
xspr;Nrh;f;ifapd; NghJ ve;j epiyapy; Mf;]p[d; cw;gj;jpahfpwJ? 
a. ATP ahdJ ADP ahf khWk; NghJ  b. CO2  epiy epWj;jg;gLk; NghJ 
c. ePh;%yf;$Wfs; gpsf;fg;gLk; NghJ d. ,it midj;jpYk; 
e. tpil njhpatpy;iy 

 

48. Which is the correct sequence of blood flow  in human beings? 
a. ventricle - atrium - vein - arteries  b. atrium - ventricle - veins - arteries  
c. atrium - ventricle - arteries - vein  d. ventricles - vein - atrium - arteries  
e. Answer not known 
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kdpj ,uj;j Xl;lj;jpd; rhpahd thpir vJ? 
a. ntz;l;hpf;fps; - Vl;hpak; - rpiu -  jkdp 

b. Vl;hpak; - ntz;l;hpf;fps; - rpiu -  jkdp 
c. Vl;hpak; - ntz;l;hpf;fps; - jkdp - rpiu 
d. ntz;l;hpf;fps; - rpiu - Vl;hpak; - jkdp 
e. tpil njhpatpy;iy 
 

49. ‘Heart of heart’ is called  
a. SA node    b. AV node    c. Purkinje fibres    
d. Bundle of His   e. Answer not known 

   ,jaj;jpd; ,jak; vd miof;fg;gLtJ    
a. SA fZ    b. AV fZ     c. gh;fpd;[p ,iofs;    
d. `p]; fw;iwfs;  e. tpil njhpatpy;iy 

 
50. A person who met with an accident lost control of body temperature, water balance, and 

hunger. Which of the following part of brain is supposed to be damaged?  
a. Medulla oblongata  b. cerebrum    c. pons   
d. hypothalamus   e. Answer not known 
xUth; tpgj;jpd; fhuzkhf cly; ntg;g epiy> ePh;r;rkepiy kw;Wk; grp vLj;jy; 
Mfpatw;Wf;fhd fl;Lg;ghl;bid ,oe;jpUf;fpwhh;. mtUf;F fPOs;stw;Ws; %isapd; 
vg;gFjp ghjpg;gile;jjhy; ,e;epiy Vw;gl;Ls;sJ? 
a. KFsk;   b. ngU%is   c. ghd;];  
d. i`Nghjyhk];  e. tpil njhpatpy;iy 

 
51. Match the following hormones with their deficiency states 
 Hormones     Disorders 

A. Thyroxine    1. Acromegaly  
B. Insulin     2. Tetany  
C. Parathormone    3. Simple goitre  
D. Growth hormone   4. Diabetes insipidus  
E. ADH     5. Diabetes mellitus 
 A B C D E 
a. 3 5 2 1 4 
b. 3 2 5 4 1 
c. 1 2 3 4 5 
d. 5 4 3 2 1 
e. Answer not known 
nghUj;Jf:   
`hh;Nkhd;fs;    FiwghLfs; 
A. ijuhf;rpd;    1. mf;NuhNkfyp 
B. ,d;Rypd;    2. nll;ldp 
C. ghuhjhh;Nkhd;   3. vspa fha;lh; 
D. tsh;r;rp `hh;Nkhd;  4. lahgb]; ,d;rpgpl]; 
E. ADH    5. lahgb]; nky;ypl];  
 A B C D E 
a. 3 5 2 1 4 
b. 3 2 5 4 1 
c. 1 2 3 4 5 
d. 5 4 3 2 1 
e. tpil njhpatpy;iy 
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52. Consider the following 
Assertion (A): Pituitary gland is referred as “Master gland”.  
Reason (R): It controls the functioning of other endocrine glands.  
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W (A) : gpl;a+l;lhp Rug;gp “jiyik Rug;gp” vd;W miof;fg;gLfpwJ. 
fhuzk; (R) : ,J gpw ehskpy;yh Rug;gpfisf; fl;LgLj;JfpwJ.  
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 

 
53. Syngamy results in the formation of _________   

a. Zoospores    b. Conidia    c. Zygote     
d. Chlamydospores   e. Answer not known 
rpd;Nfkpapd; tpisthy; cUthtJ _________ 
a. #];Nghh;fs;  b. nfhdpbah   c. irNfhl; (fUKl;il) 
d.fpshkpNlh];Nghh;fs; e. tpil njhpatpy;iy 

 
54. The large elongated cells that provide nutrition to developing sperms are  

a. Primary germ cells   b. Sertoli cells    c. Leydig cells   
d. Spermatogonia    e. Answer not known 
tpe;J cUthf;fj;jpw;F Cl;lkspf;Fk; nghpa ePl;rpail.e;j nry;fs; 
a. Kjy;epiy tpe;J tsh; capuZ b. nrh;Nlhyp nry;fs; c. yPbf; nry;fs;  

d. ];ngh;kl;NlhNfhdpah   e. tpil njhpatpy;iy 
 
55. The ‘use and disuse theory’ was proposed by ______________.  

a. Charles Darwin    b. Ernest Haeckel   c. Jean Baptiste Lamarck   
d. Gregor Mendel    e. Answer not known 
“gad;ghL kw;Wk; gad;gLj;jhik” Nfhl;ghl;il Kd;nkhope;jth; 
a. rhh;y]; lhh;tpd;   b. vh;d];l; n`f;fy;  c. [Pd; ghg;b];l; yhkhh;f;  
d. fphpfh; nkz;ly;   e. tpil njhpatpy;iy 

 
56. The next number in the series is 

2 3 4 5
, , , ,?
5 255 5 5  

a. 

6

5 5   b. 

6

25 5  c. 
6

125
  d. 

7

25
  e. Answer not known 

gpd;tUk; njhlhpy; mLj;j vz; 

2 3 4 5
, , , ,?
5 255 5 5  

a. 
6

5 5
  b. 

6

25 5
 c. 

6

125
  d. 

7

25
  e. tpil njhpatpy;iy 
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57. The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables 
together is 4000. The total price of 12 chairs and 3 tables is : 
a. 3750   b. 3840  c. 3500  d. 3900 e. Answer not known 
10 ehw;fhypfspd; tpiy 4 Nkirfspd; tpiyf;Fr; rkkhFk;. 15 ehw;fhypfs; kw;Wk; 2 
Nkirfspd; tpiy nkhj;jkhf &.4>000 MFk;. 12 ehw;fhypfs; kw;Wk; 3 Nkirfspd; 
nkhj;j tpiy vd;d? 
a. 3750   b. 3840  c. 3500  d. 3900 e. tpil njhpatpy;iy 

 
58. A rational number is such that when we multiply it by 5/2 and add 2/3 to the product 

we get -7/12. What is the number? 
a. -3/2   b. 3/2   c. 1/2   d. -1/2  e. Answer not 
known 
xU tpfpjKW vz;iz 5/2  y; ngUf;fp tUk; ngWf;fw;gyDld; 2/3 If; $l;bdhy; -
7/12 fpilf;Fk; vdpy; mt;tpfpjKW vz; vJ? 
a. -3/2   b. 3/2   c. 1/2   d. -1/2  e. tpil 
njhpatpy;iy 

 
59. Two series are given below with specific pattern 

 

6 18 36 108 216 648 
2 (a) (b)  (c) (d)  (e) 

What will come in the place of (e) ? 
a. 482  b. 344  c. 216  d. 420  e. Answer not known 
fPNo nfhLf;fg;gl;l Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy; (e) –d; kjpg;G 
fhz;f. 

6 18 36 108 216 648 
2 (a) (b)  (c) (d)  (e) 

a. 482  b. 344  c. 216  d. 420  e. tpil njhpatpy;iy 
 
60. Find the odd man out in the following: 1, 5, 14, 30, 50, 55, 91 

a. 5  b. 50  c. 55  d. 91  e. Answer not known 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
1, 5, 14, 30, 50, 55, 91 
a. 5  b. 50  c. 55  d. 91  e. tpil njhpatpy;iy 

 
61. The term Ethnobotany was coined by  

a. Khorana    b. J.W. Harsbberger   c. Ronald Ross    
d. Hugo de Vries   e. Answer not known 
tl;lhu ,d jhtutpay; vd;Wk; nrhy;iy Kjd; Kjypy; mwpKfg;gLj;jpath;.  
a. nfhuhdh   b. J.W.`hh;]; ngh;fh;  c. nuhdhy;L uh];   
d. `pANfh b tphp];  e. tpil njhpatpy;iy 

 
62. The miracle rice which saved millions of lives and celebrated its 50th birthday is _______  

a. IR 8   b. IR 24    c. Atomita 2     
d. Ponni   e. Answer not known 
jd;Dila 50 tJ gpwe;j ehisf; nfhz;lhba> kpy;ypad; kf;fspd; capiuf; fhg;ghw;wpa 
mjpra mhprp ________ MFk;. 
a. IR 8   b. IR 24    c. ml;lhkpl;lh 2    
d. nghd;dp  e. tpil njhpatpy;iy 
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63. Consider the following 
Assertion (A): Colchicine reduces the chromosome number.  
Reason (R): It promotes the movement of sister chromatids to the opposite poles.  
a. Assertion is correct and reason is wrong  
b. Reason is correct and the assertion is wrong  
c. Both assertion and reason is correct  
d. Both assertion and reason is wrong.   
e. Answer not known 
$w;W: fhy;r;rprpd; FNuhNkhNrhk; vz;zpf;ifiaf; Fiwf;fpwJ. 
fhuzk;: rNfhjhp FNuhNkhl;bfs; vjpnujph;j; JUtq;fis Nehf;fp efh;tij  
  mJ Cf;Ftpf;fpwJ. 
a. $w;W rhp Mdhy; fhuzk; jtW 
b. $w;W jtW Mdhy; fhuzk; rhp 
c. $w;W kw;Wk; fhuzk; ,uz;Lk; rhp 
d. $w;W kw;Wk; fhuzk; ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 
64. Metastasis is associated with  

a. Malignant tumour   b. Benign tumour    c. Both (a) and (b)   
d. Crown gall tumour   e. Answer not known 
nkl;lh];lhrp]; ,jDld; njhlh;GilaJ. 
a. tPhpakpf;f fl;b (khypf;dd;l;) b. jPq;fw;w fl;b  c. a kw;Wk; b    
d. kFlf; foiy Neha;  e. tpil njhpatpy;iy 

 
65. What is the shape of human stomach? 

a. “C” Shape    b. “S” Shape    c. “U” Shape  
d. “J” Shape    e. Answer not known 
kdpj ,iug;igapd; tbtk; vd;d? 
a. “C” tbtk;   b. “S” tbtk;   c. “U” tbtk;   

d. “J” tbtk;  e. tpil njhpatpy;iy 
 

66. The parietal or oxyntic cells secrete HCl and an intrinsic factor responsible for the 
absorption of ________ called castle’s intrinsic factor  
a. Vitamin B12  b. Vitamin B6   c. Vitamin B1   
d. Vitamin B2   e. Answer not known 
ngiul;ly; nry;fs; my;yJ Mf;rpd;bf; nry;fs; i`l;NuhFNshupf; mkpyk; kw;Wk; 
_______ I cl;fpufpf;fj; Njitahd Nfry;]; cs;sikf; fhuzpiaAk; Ruf;fpd;wd.  
a. itl;lkpd; B12  b. itl;lkpd; B6  c. itl;lkpd; B1   
d. itl;lkpd; B2  e. tpil njhpatpy;iy 

 

67. Which of the following involves in the synthesis of urea? 
a. Liver    b. Kidney    c. Spleen    
d. Pancreas   e. Answer not known 
gpd;tUtdtw;Ws; vJ A+upahit cUthf;Ftjpy; gq;Nfw;fpd;wJ? 
a. fy;yPuy;    b. rpWePufk;    c. kz;zPuy;    
d. fizak;    e. tpil njhpatpy;iy 

 

68. What is the molecular weight of haemoglobin? 
a. 28, 000 Daltons   b. 48, 000 Daltons   c. 58, 000 Daltons   
d. 68, 000 Daltons    e. Answer not known 
`PNkhFNshgpdpd; %yf;$W vil vd;d?  
a. 28>000 lhy;ld;   b. 48000 lhy;ld;   c. 58000 lhy;ld;    
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d. 68000 lhy;ld;    e. tpil njhpatpy;iy 
69. Which of the following substance is secreted by Basophils? 

a. Heparin     b. Serotonin   c. Histamines   
d. All of these   e. Answer not known 
gpd;tUk; nghUl;fSs; vit NgNrh/gpy;fshy; Ruf;fg;gLfpd;wd?  
a. n`g;ghhpd;    b. nruNlhdpd;  c. `p];lkpd;   
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
70. Erythroblastosis foetalis can be avoided by administration of _________ to the mother 

immediately after the first child birth 
a. Rhocum    b. Rostrum    c. Colostrum     
d. Sebum   e. Answer not known 
vhpj;Nuhgpsh];Nlhrp]; /gPlhyp]; epiyiaj; jtpf;f Kjy; gpurtj;jpw;Fgpd; cldbahf 
_____ vd;Dk; kUe;ij jha;f;F Crpapd; %yk; nrYj;j Ntz;Lk;.  
a. Nuhf;fk;   b. u];l;uk;   c. nfhy];l;uk;   

d. rPgk;    e. tpil njhpatpy;iy 
 
71. Find the correct statement: 

1. Rhythmic contraction and expansion of heart is called heart beat  
2. The contraction of heart is called diastole  
3. The relaxation of the heart is called systole  
4. The heart normally beats 70-72 times per minute in human adult.  
a. 1, 2, 3, 4 correct    b. 1, 4 correct 2, 3 incorrect  
c. 1, 2, 4 correct 3 incorrect   d. 1, 3, 4 correct 2 incorrect  
e. Answer not known 
rupahd thf;fpaq;fis fz;Lgpb: 
1. ,jak; rPuhf RUq;fp tpupjy; ,jaj;Jbg;G vdg;gLfpwJ.  
2. ,jak; RUq;Fjy; ila];Nlhy; vd miof;fg;gLfpwJ.  
3. ,jak; tpuptiljy; rp];Nlhy; vd miof;fg;gLfpwJ. 
4. xU ,sk; kdpjdpd; ,jak; epkplj;jpw;F 70-72 Kiwfs; Jbf;Fk;.  
a. 1, 2, 3, 4 rup   b. 1, 4 rup 2, 3 rupay;y  
c. 1, 2, 4 rup 3 rupay;y   d. 1, 3, 4 rup 2 rupay;y 
e. tpil njhpatpy;iy 

 
72. Which of the following effect protects the heart from abnormal increase in blood 

volume? 
a. Simon Effect    b. Purkinje Effect   c. Kappa Effect    
d. Frank – Starling Effect  e. Answer not known 
gpd;tUk; tpisTfSs; vJ ,uj;jj;jpd; nfhs;sstpy; Vw;gLk; mrhjhuzkhd 
mjpfupg;gpjpUe;J ,jaj;ijg; ghJfhf;fpwJ? 
a. irkd; tpisT   b. gu;fpd;[p tpisT  c. fhgh tpisT   
d. /g;uhq;f; - ];lhu;ypq; tpisT  e. tpil njhpatpy;iy 

 
73. Which of the following causes stroke in human? 

a. Brain Haemorrhage b. Atherosclerosis    c. Thrombus     
d. All of these  e. Answer not known  
gpd;tUtdtw;Ws; vJ kdpju;fspy; gf;fthjj;ij vw;gLj;JfpwJ? 
a. %is ,uj;jf;frpT  b. mj;jpNuh];fpspNuhrp];   c. ,uj;jf;fl;b    
d. ,it midj;Jk;  e. tpil njhpatpy;iy  

 
74. Which one of the following also called Cowper’s gland? 

a. Prostate gland   b. Bulbourethral gland  c. Bartholin’s gland   



 

17 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

d. Skene’s gland   e. Answer not known 
gpd;tUtdtw;Ws; ve;jnthd;W nfsg;gu; Rug;gp vd;wiof;fg;gLfpwJ? 
a. GNuh];Nll; Rug;gp  b. gy;NghA+upj;uy; Rug;gp   c. gu;j;Njhypd; Rug;gp   
d. ];fPd;]; Rug;gp   e. tpil njhpatpy;iy 

 
75. The skene’s glands of the female are homologues to the ______ gland of the male  

a. Bartholin’s gland   b. Prostate gland   c. Bulbourethral gland   
d. Brunner’s gland   e. Answer not known 
ngz;zpy; cs;s ];fPd;]; Rug;gpfs; Mz;fspy; cs;s _________ Rug;gpfSf;F 
xg;ghdit.  
a. gu;Njhypd; Rug;gp   b. GNuh];Nll; Rug;gp  c. gy;NghAupj;jy; Rug;gp   
d. GUd;du; Rug;gp   e. tpil njhpatpy;iy 

 
76. Which of the following hormone acts on the Leydig cells and stimulates the synthesis of 

Testosterone? 
a. FSH    b. Androgen     c. LH   
d. None of these  e. Answer not known 
gpd;tUk; `hu;Nkhd;fSs; vJ ,ilaPl;L nry;fs; (Leydig cells) kPJ nray;gl;L 
nl];Nlh];BNuhd; cw;gj;jpia J}z;LfpwJ? 
a. FSH    b. Md;l;Nlhn[d;    c. LH   
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 

 
77. Find the correct statement.  

1. The sperm is the smallest human cell  
2. The ovum or egg is the largest human cell  
3. FSH stimulates the process of spermiogenesis  
4. LH stimulates the process of spermatogenesis  
a. 1, 2 correct 3, 4 incorrect   b. 1, 2, 3, 4 correct  
c. 2, 4 correct 1, 3 incorrect   d. 1, 2, 3 correct 4 incorrect 
e. Answer not known 
rupahd thf;fpaq;fis fz;Lgpb: 

 1. kdpj nry;fspy; kpfr;rpwpait tpe;J nry;fshFk; 
 2. kdpj nry;fspy; kpfg;ngupait mz;l nry;fshFk; 
 3. FSH ];ngu;kpNahn[dprp]; epfpo;r;rpia J}z;lfpwJ  
 4. LH ];ngu;kl;Nlhn[dprp]; epfo;r;rpia J}z;LfpwJ 

a. 1, 2, rup 3, 4 rupay;y   b. 1, 2, 3, 4 rup  
 c. 2, 4 rup 1, 3 rupay;y   d. 1, 2, 3, rup 4 rupay;y 
 e. tpil njhpatpy;iy 
 
78. What is the gestation period of human? 

a. 250 days    b. 260 days    c. 280 days    
d. 300 days   e. Answer not known 
kdpju;fspd; fu;g;g fhy msT vd;d? 
a. 250 ehl;fs;   b. 260 ehl;fs;   c. 280 ehl;fs;   
d. 300 ehl;fs;   e. tpil njhpatpy;iy 

 
79. Which of the following antibodies are rich in colostrum? 

a. IgE  b. IgM  c. IgA  d. IgD  e. Answer not known 
gpd;tUk; vjpu;nghUl;fSs; vJ rPk;ghypy; mjpfkhf fhzg;gLfpwJ? 
a. IgE  b. IgM  c. IgA  d. IgD  e. tpil njhpatpy;iy 
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80. When is world breast feeding week observed? 

a. March 1st week    b. March 2nd week   c. August 1st week    
d. August 2nd week    e. Answer not known 
cyf jha;g;ghy; thuk; vg;nghOJ mDrupf;fg;gLfpwJ? 
a. khu;r; Kjy; thuk;   b. khu;r; ,uz;lhk; thuk;  c. Mf];l; Kjy; thuk;   
d. Mf];l; ,uz;lhk; thuk;  e. tpil njhpatpy;iy 

 
81. Who is the man behind the World’s first low cost sanitary napkin making machine?  

a. Parafulla Chandra Ray    b. Raj Reddy  
c. Arunachalam Muruganatham    d. Francis crock 
e. Answer not known 
cyfpd; kpfTk; tpiy kypthd> tpilaf;fhy mizahil jahhpf;Fk; fUtpia 
cUthf;fpa kdpjh; ahh;?  
a. gpuk;Gy;yh re;jpuh uha;   b. uh[; nul;b  
c. mUzhr;ryk; KUfhde;jk;  d. gpuhd;rp]; fphpf;  

 e. tpil njhpatpy;iy 
 
82. When was PCPNDT Act (Preconception and prenatal diagnostic technique) enacted?  

a. 1971  b. 1974   c. 1994   
d. 1996  e. Answer not known 
vg;nghOJ PCPNDT Act (Foe;ij gpwg;Gf;F Kd; ghypdj;ij Kd;$l;bNa fz;lwpAk; 
njhopy;El;gk;) ,aw;wg;gl;lJ? 
a. 1971  b. 1974   c. 1994   
d. 1996  e. tpil njhpatpy;iy 

 
83. Which of the following refers to a diagrammatic representation of chromosomes?  

a. Pedigree Analysis  b. Karyotyping    c. Idiogram     
d. All of these   e. Answer not known 
gpd;tUtdtw;Ws; vJ FNuhNkhNrhk;fis glkhf fhl;rpgLj;jiy Fwpf;Fk;?  
a. gpbfphp gFg;gha;T  b. NfhpNahilg;gpq;    c. ,bNahfpuhk;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
84. Match the following: 
 List – I    List – II 

A. Alpha Thalassemia  1. Chromosome 11 
B. Beta Thalassemia  2. Chromosome 12 
C. Phenyl ketonuria  3. Chromosome 16 
D. Albinism    4. Lack of tyrosinase  

  A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 1 2 4  
d. 2 3 1 4  
e. Answer not known 
nghUj;Jf:  
gFjp I    gFjp II  
A. My;/gh jyhrPkpah  1. FNuhNkhNrhk; 11  
B. gPl;lh jyhrPkpah  2. FNuhNkhNrhk; 12 
C. gpidy;fPNlhepA+hpah  3. FNuhNkhNrhk; 16 
D. my;gpdprk;   4. ilNuhrpNd]; FiwT  
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 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 3 1 2 4  
d. 2 3 1 4 

 e. tpil njhpatpy;iy 
 
85. Genes may exist in several alternate forms called as _______ 

a. Recon   b. Muton    c. Locus    
d. Alleles  e. Answer not known 
kugZf;fs; gy khw;W tbtq;fisf; nfhz;bUf;fyhk; ,J ____ vd;W miof;fg;gLk; 
a. nuf;fhd;   b. kpA+l;lhd;    c. Nyhf];   
d. my;yPy;fs;  e. tpil njhpatpy;iy  

 
86. What is unit digit in the product 784 × 618 × 917 × 463? 

a. 6  b.2  c. 4  d.8  e. Answer not known 
784 × 618 × 917 × 463 ngUf;Fgydpd; Kjyhk; ,yf;f vz; vd;d? 
a. 6  b.2  c. 4  d.8  e. tpil njhpatpy;iy 

 
87. Which of the following is not true?  

a. Every rational number is a real number.  
b. Every integer is a rational number.  
c. Every real number is an irrational number.  
d. Every natural number is a whole number. 
e. Answer not known 
gpd;tUtdtw;Ws; vJ cz;ikay;y? 
a. xt;nthU tpfpjKW vz;Zk; nka;naz; 
b. xt;nthU OOf;fSk; tpfpjKW vz;. 
c. xt;nthU nka;naz;Zk; tpfpjKwh vz; 
d. xt;Nthh; ,ay; vz;Zk; xU KO  vz;.  
e. tpil njhpatpy;iy 

    
88. Find the missing term of the sequence: 

7, 26, 63, 124, 215, 342, ______ 
a. 391   b. 421    c. 471 
d. 511   e. Answer not known 
gpd;tUk; njhlhpy; tpLgl;l vz;izf; fhz;f. 
7> 26> 63> 124> 215> 342>――――― 
a. 391   b. 421    c. 471   
d. 511   e. tpil njhpatpy;iy 

 
89. Which of the following numbers are divisible by 11? 

1. 5632  2. 49621  3. 1253  4. 9812 
a. 1 and 2   b. 1 and 3   c. 1, 2 and 4 
d. all of these   e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s vz;fspy; 11 My; tFgLk; vz;fs; ahit? 
1. 5632  2. 49621  3. 1253  4. 9812 
a. 1 kw;Wk; 2   b. 1 kw;Wk; 3   c. 1, 2 kw;Wk; 4  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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90. In the series 
1 2 3

, ,
2 3 4

what will be the 6th term? 

a. 
9

17
  b. 

7

13
  c. 

4

9
  d. 

6

7
  e. Answer not known 

1 2 3
, ,

2 3 4
,… vd;w njhlh; thpirapd; 6 MtJ cWg;igf; fhz;f. 

a. 
9

17
  b. 

7

13
  c. 

4

9
  d. 

6

7
  e. tpil njhpatpy;iy 

 
91. Who developed firstly the DNA finger printing technique? 

a. Alec Jeffreys   b. Meselson    c. Stahl     
d. Fraenkel – Conrat e. Answer not known 
DNA Nuif mr;rply; njhopy;El;gj;ij Kjypy; cUthf;fpatu; ahu;? 
a. mnyf; N[/g;Nu];  b. nknry;nrd;  c. ];lhy;    
d. /gpud;nfy; - fhd;uhl;  e. tpil njhpatpy;iy 

 
92. Match the following:  
 List – I    List – II  

A. Shigellosis   1. Black death  
B. Bubonic plague   2. Bacillary dysentery  
C. Tetanus    3. Lock jaw  
D. Typhoid    4. Enteric fever  
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4  
c. 1 2 4 3  
d. 4 1 3 2  
e. Answer not known 
nghUj;Jf:  
 gFjp I  gFjp II  
A. ~pn[y;Nyhrp];   1. fUg;G kuzk;  
B. GNghdpf; gpNsf;   2. Ngrpy;yhp rPjNgjp  
C. nll;ld];   3. mirahj jhil  
D. il/gha;L   4. rpWFlw; Ruk;  
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4  
c. 1 2 4 3  
d. 4 1 3 2 
e. tpil njhpatpy;iy 

 
93. World biofuel day is observed every year on ________.  

a. 10th June    b. 10th July   c. 10th August    
d. 10th September   e. Answer not known 
xt;nthU Mz;Lk; _________ Mk; ehs; cyf caphpa vhpnghUs; jpdkhff; 
filgpbf;fg;gLfpwJ.  
a. [Pd; 10   b. [Piy 10   c. Mf];l; 10  
d. nrg;lk;gh; 10   e. tpil njhpatpy;iy 
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94. Which of the following microbes are currently tried for recycling of PET plastics?  
a. Nitrosomonas europaea   b. Ideonella sakaiensis  
c. Dechloromonas aromatica   d. Phanerochaete chrysosporium  
e. Answer not known 
gpd;tUk; Ez;ZaphpfSs; vJ jw;nghOJ PET nefpopfis kWRow;rp nra;Ak; gzpapy; 
<LgLj;jg;gl;Ls;sJ?  
a. iel;NuhNrhNkhdh]; A+Nuhg;gpah  b. ,bNahndy;yh rhf;ifad;rp];  
c. BFNshNuhNkhdh]; mNuhNkl;bf;fh  d. ngdpNuhNfl; fpiuNrhNghhpak;  

 e. tpil njhpatpy;iy 
 
95. Which of the following is the popular sources of stem cells? 

a. Placenta   b. Amniotic Sac   c. Amniotic Fluid  
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; vJ jz;L nry;fSf;fhd rpwe;j %yq;fs; MFk;? 
a. jha; Nra; ,izg;Gj;jpR b. gdpf;Fl ciw   c. gdpf;Fl jputk;  

d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 
96. Which of the following techniques are reliable and help in early diagnosis? 

a. Recombinant DNA technology  b. PCR   c. ELISA   
d. All of these    e. Answer not known 
gpd;tUk; njhopy;El;gq;fSs; vJ Nehia njhlf;f epiyapNyNa fz;lwpa cjTfpd;wd? 
a. DNA kWNru;f;ifj; njhopy;El;gk;  b. PCR   c. ELISA   
d. ,it midj;Jk;    e. tpil njhpatpy;iy 

 
97. Who was the first to use the term “niche”? 

a. Robert Whittaker   b. Jeremy Jackson   c. Charles Elton  
d. John Wiens   e. Answer not known 
“rpWthoplk;” vd;w nrhy;iy Kjd; Kjypy; ahu; gad;gLj;jpdhu;? 
a. uhgu;l; tpl;Nlf;fu;   b. n[upkp [hf;rd;   c. rhu;y]; vy;ld;  
d. [hd; nta;d;];   e. tpil njhpatpy;iy 

 
98. The PCR technique can also be used for amplifications of RNA in which case it is 

referred as ____. 
a. RT – PCR   b. ST – PCR   c. AT – PCR  
d. MT – PCR   e. Answer not known 
PCR Kiwg;gb RNA %yf;$WfisAk; ngUf;fkilar; nra;a ,aYk;. ,e;epfo;r;rp ___ 
vd miof;fg;gLk;. 
a. RT – PCR   b. ST – PCR   c. AT – PCR  
d. MT – PCR   e. tpil njhpatpy;iy 

 
99. ____ an APP provides hourly updates on the National Air Quality Index (AQI) 

Published by CPCB. 
a. UMANG   b. Sameer   c. WAYU 
d. MY Speed   e. Answer not known 
CPCB apd; ntspaPL Mfpa ___ vDk; nrayp Njrpa mstpy; xt;nthU kzpf;Fk; 
fhw;wpd; gz;Gf; FwpaPl;il ntspapLfpwJ. 
a. UMANG   b. Sameer   c. WAYU 
d. MY Speed   e. tpil njhpatpy;iy 

 

100. What is the rate of average human consumption of oxygen per day? 
a. 250 L  b. 350 L   c. 450 L   
d. 550 L  e. Answer not known 
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xU ehisf;F kdpjd; vLj;Jf;nfhs;Sk; Mf;rp[dpd; ruhrhp msT vd;d? 
a. 250 yp  b. 350 yp   c. 450 yp   

d. 550 yp  e. tpil njhpatpy;iy 
 
101. G. Nammalvar founded the Ecological foundation for farm research and Global food 

security trust or simply ___ at Karur, Tamil Nadu. 
a. Vaanagam   b. Poologam   c. Pasumaiyagam   
d. Bhumi   e. Answer not known 
Ntshz; Muha;r;rp kw;Wk; cyf czT ghJfhg;G FOkj;jpw;fhf jkpo;ehl;bd; f&upy; ___ 
vd;w Rw;Wr;#oy; mikg;gpid ek;kho;thu; epWtpdhu;. 
a. thdfk;   b. G+Nyhfk;   c. gRikafk;   
d. G+kp    e. tpil njhpatpy;iy 

 
102. Pick out the incorrect pair from the following. 

a. Generator rule    - Fleming’s right hand rule    

b. Law of conservation of charges  - Krichoff’s I law 
c. Law of conservation of energy  - Len’z law    

d. Voltage law    - Coulomb’s law 
e. Answer not known 
gpdtUtdtw;Ws; jtwhd ,iz vJ vdf; fhz;f. 
a. kpd;dpaw;wp tpjp    - /gpskpq;fpd; tyJ if tpjp 
b. kpd;D}l;l moptpd;ik tpjp  - fphpr;r/g; Kjy; tpjp 
c. Mw;wy; moptpd;ik tpjp   - nyd;]; tpjp 
d. kpd;dOj;j tpjp    - $Y}k; tpjp 
e. tpil njhpatpy;iy 

 
103. Which of the following pairs does not represent quantities of identical dimensions? 

a. Angular momentum and plank’s constant 
b. Moment of inertia and moment of force  
c. Work and Torque 
d. Impulse and momentum 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;wpy; xj;j ghpkhz tha;g;ghl;ilf; nfhz;buhj N[hb vJ? 
a. Nfhz ce;jk; kw;Wk; gpshq;f; khwpyp 
b. epiyk jpUg;Gj;jpwd; kw;Wk; tpirapd; jpUg;Gj;jpwd; 
c. Ntiy kw;Wk; jpUg;G tpir 
d. fzj;jhf;Ftpir kw;Wk; ce;jk; 
e. tpil njhpatpy;iy 

 
104. Stretched rubber chord is an example for  

a. Kinetic energy  b. Potential energy   c. Thermal energy   

d. Electric energy  e. Answer not known 
,Of;fg;gl;l ug;gh; Jz;L vjw;F vLj;Jf;fhl;L 
a. ,af;f Mw;wy;  b. epiy Mw;wy;    c. ntg;g Mw;wy;  

d. kpd; Mw;wy;  e. tpil njhpatpy;iy 
 

105. Which one of the following Hybridization is present in PCl5 molecule? 
a. Sp3d2  b. Sp3d   c. Sp3    
d. Sp2   e. Answer not known 
gpd;tUtdw;wpy; ve;j ,df;fyg;G PCl5 %yf;$wpy; cs;sJ?  
a. Sp3d2  b. Sp3d   c. Sp3    
d. Sp2   e. tpil njhpatpy;iy 
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106. Which compound is used as smoke screen? 
a. PCl3  b. PCl5  c. PH3  d. H3PO3 e. Answer not known 
Gifj;jpiuapy; gad;gLj;jg;gLk; Nrh;kk; vJ? 
a. PCl3  b. PCl5  c. PH3  d. H3PO3 e. tpil njhpatpy;iy 

 
107. Which one of the following is correctly arranged in their increasing order reactivity? 

a. Mg > Al > Ca > Na b. Na > Ca > Mg > Al  c. Ca > Al > Mg > Na 
d. Na > Ca > Al > Mg e. Answer not known 
fPo; cs;sstw;wpy;> mtw;wpd; nray;jpwd; mbg;gilapy; VWthpirapy;  vJ rhp?  
a. Mg > Al > Ca > Na b. Na > Ca > Mg > Al  c. Ca > Al > Mg > Na   
d. Na > Ca > Al > Mg e. tpil njhpatpy;iy 

 

108. Chemical name of aspirin is 
a. Ethyl Salicylic acid b. Benzoyl salicylic acid  c. Methyl Salicylate   
d. Acetyl salicylic acid e. Answer not known 
M];gphpd; kUe;jpd; Ntjpg; ngah;  
a. vj;jpy; rhyp rpypf; mkpyk; b. ngd;rhapy; rhyprpypf; mkpyk;  
c. nkj;jpy; rhyprpNyl;  d. mrpl;ily; rhyprpypf; mkpyk; 
e. tpil njhpatpy;iy 

 

109. Which of the following are wrong? 
I. Na2CO3 is used in softening hard water 
II. NaHCO3 is used for bleaching cotton and linen in textile industry 
III. CaSO4  ½ H2O is used for plastering fractured bones 
IV. CaOCl2 is used in making of baking powder 
a. I and IV   b. II and IV   c. I and III   
d. III and IV   e. Answer not known 
gpd;tUtdtw;Ws; jtwhdit vit? 
I. Na2CO3 fbd ePiu nkd;dPuhf khw;wg;gad;gLfpwJ 
II. NaHCO3 gUj;jp> ypdhd; Jzpfis ntSf;fg; gad;gLfpwJ 
III. CaSO4 ½ H2O Kwpe;j vYk;Gfis xl;litf;fg; gad;gLfpwJ 
IV. CaOCl2 nuhl;br;Nrhlh jahhpf;fg; gad;gLfpwJ 
a. I kw;Wk; IV  b. II kw;Wk; IV  c. I kw;Wk; III   
d. III kw;Wk; IV  e. tpil njhpatpy;iy 

 

110. Alkaloids are a group of toxic wastes products, but some are useful to us. Match the 
useful alkaloids and their sources: 
A. Quinine    1. Opium 
B. Morphine    2. Tobacco 
C. Tropine    3. Cinchona 
D. Nicotine    4. Withania 

A B C D 
a.  3 2 4 1 
b.  3 1 4 2 
c.  3 4 1 2 
d.  1 3 4 2 
e. Answer not known 
My;fyha;Lfs; vd;git er;Rf; fopTg; nghUl;fshFk; Mdhy; mitfspy; rpy ekf;Fg; 
gad;gLfpwJ. gad;gLk; My;fyha;LfisAk; mtw;wpd; Mjhuq;fisAk; nghUj;Jf. 
A. Fapidd;    1. Xgpak; 
B. khh;/gpd;    2. Gifapiy 
C. l;Nuhgpd;    3. rpd;Nfhdh 
D. epNfhbd;    4. mKf;fpuh 
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A B C D 
a.  3 2 4 1 
b.  3 1 4 2 
c.  3 4 1 2 
d.  1 3 4 2 
e. tpil njhpatpy;iy 

 
111. The acidity of CH4, NH3, H2O and HF molecules should be in the order. 

a. HF < H2O < NH3< CH4   b. HF > NH3 < H2O > CH4  
c. H2O < CH4 < NH3 < HF   d. CH4 < NH3 <H2O < HF 
e. Answer not known 
CH4, NH3, H2O kw;Wk; HF Mfpa %yf;$Wfspd; mkpyj;Jt thpir: 
a. HF < H2O < NH3< CH4   b. HF > NH3 < H2O > CH4  
c. H2O < CH4 < NH3 < HF   d. CH4 < NH3 <H2O < HF 
e. tpil njhpatpy;iy 

 
112. Which of the following is correct? 

a. pH – pOH = 14  b. pH + pOH = 7   c. pH - pOH = 0  
d. pH + pOH = 14  e. Answer not known 
gpd;tUtdtw;Ws; rhpahdJ vJ? 
a. pH – pOH = 14  b. pH + pOH = 7   c. pH - pOH = 0   
d. pH + pOH = 14  e. tpil njhpatpy;iy 

 
113. Common Salt is made up of 

a. Strong acid and strong base  b. Strong acid and weak base 
c. Weak acid and strong base  d. Weak acid and weak base 
e. Answer not known 
_______ ,uz;Lk; ,ize;jJ rhjhuz cg;G MFk;  
a. typik kpF mkpyk; + typik kpF fhuk;  
b. typik kpF mkpyk; + typik Fiwe;j fhuk;  
c. typik Fiwe;j mkpyk; + typik kpF fhuk;  
d. typik Fiwe;j mkpyk; + typik Fiwe;j fhuk; 
e. tpil njhpatpy;iy 

 
114. What is the pH value of 0.001 M HCl? 

a. 1  b. 2  c. 3  d. 4  e. Answer not known 
0.001 M nrwpT nfhz;l HCl –d; pH kjpg;G ahJ? 
a. 1  b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 

 
115. Which of the following statements about bases is/are true? 

I. Base is a substance which releases hydroxide ions when dissolved in water 
II. They change blue litmus to red 
III. Zinc reacts with sodium hydroxide to form Sodium Zinkate with the liberation of 

hydrogen gas 
IV. They are colourless with phenolphthalein and pink with methyl orange. 
a. I and III   b. II only   c. III and IV  
d. IV and II   e. Answer not known 
fhuq;fs; gw;wpa fPo;f;fz;l $w;Wfspy; vJ / vit rhp? 
I. fhuq;fs; ePhpy; fiue;J i`l;uhf;irL madpfisj; jUk; Nrh;kq;fs; fhuq;fs; 

vdg;gLfpd;wd 
II. ,it ePy ypl;k]; jhisr; rptg;ghf khw;Wfpd;wd 
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III. Jj;jehfk;> Nrhbak; i`l;uhf;irLld; tpidGhpe;J i`l;u[d; thAit ntspapl;L 
Nrhbak; [pq;Nfl;ilj; jUfpwJ 

IV. ,it gpdhg;jypDld; epwkw;wjhfTk; nkj;jpy; MuQ;Rld; ,sQ;rptg;G epwj;ijAk; 
jUfpd;wd 

a. I kw;Wk; III  b. II kl;Lk;   c. III kw;Wk; IV   
d. IV kw;Wk; II  e. tpil njhpatpy;iy 

 

116. In an examination, a student was asked to find 
3

14
 of a certain number. By mistake, he 

found 
3

4
of that number. His answer was 150 more than the correct answer. The number 

is: 
a. 180  b. 240  c. 280  d. 290  e. Answer not known 

Njh;tpy; xU khztd; xU vz;zpd; 
3

14
 f;F gjpyhf 

3

4
 fzf;fpLtjhy; rhpahd 

tpilia tpl 150 mjpfnkdpy; me;j vz;izf; fhz;f  
a. 180  b. 240  c. 280  d. 290  e. tpil njhpatpy;iy  

 
117. Insert the missing number. 

2, 6, 12, 20, 30, 42, 56, _____________. 
a. 62  b. 72  c. 64  d. 68  e. Answer not known 
fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 
2, 6, 12, 20, 30, 42, 56, _____________. 
a. 62  b. 72  c. 64  d. 68  e. tpil njhpatpy;iy 

 
118. Find out the odd number in the given series 25, 36, 49, 81, 121, 169, 225 

a. 36  b. 49  c. 169  d. 225  e. Answer not known 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
25, 36, 49, 81, 121, 169, 225 
a. 36  b. 49  c. 169  d. 225  e. tpil njhpatpy;iy 

 
119. The taxi charges in a city comprise of a fixed charge of ₹100 for 5 kms and ₹16 per km for 

every additional km. If the amount paid at the end of the trip was 740 find the distance 
travelled.  
a. 45 km   b. 50 km   c. 60 km   
d. 68 km   e. Answer not known 
thlif kfpOe;jpd; (Taxi) thliff; fl;lzkhf> Kjy; 5 fp.kP njhiytpw;Ff;; Fiwe;j 
gl;rf; fl;lzkhf Rs.100k;> 5 fp.kP f;F kpFk; njhiytpw;F fp.kP f;F Rs.16 vdTk; 
eph;zapf;fg;gl;Ls;sJ. xUth; jdJ gazj;jpw;fhf toq;fpa nkhj;jj; njhif Rs.740 
vdpy;> mth; gazpj;j njhiyitf; fhz;f.  
a. 45 fp.kP   b. 50 fp.kP   c. 60 fp.kP   
d. 68 fp.kP   e. tpil njhpatpy;iy 

 
120. If two third of four fifth of seven eighth of a number is 63 then the number is 

a. 630  b. 360  c. 135  d. 35  e. Answer not known 
xU vz;zpd; %d;wpy; ,uz;L gq;fpd; Ie;jpy; ehd;F gq;fpd; vl;by; VO gq;F 63 vdpy; 
mt;ntz;  
a. 630  b. 360  c. 135  d. 35  e. tpil njhpatpy;iy 
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121. Match the following elements with its Latin name : 
A. Lead   1. Stibium 
B. Antimony   2. Plumbum 
C. Tin    3. Kalium 
D. Potassium   4. Stannum 
 A B C D 
a. 1 3 2 4 
b. 1 2 3 4 
c. 2 1 4 3 
d. 4 1 2 3 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s jdpkq;fis mjd; yj;jPd; ngah;fNshL njhlh;GgLj;jTk; 
A. nyl;   1. ];bgpak; 
B. Md;bkzp   2. gpsk;gk; 
C. bd;    3. fhypak; 
D. nghl;lhrpak;  4. ];Nldk; 
 A B C D 
a. 1 3 2 4 
b. 1 2 3 4 
c. 2 1 4 3 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
122. The Indian Salt Petre is 

a. Ammonium nitrate (NH4NO3)   b. Sodium nitrate (NaNO3) 
c. Potassium nitrate (KNO3)   d. Calcium nitrate Ca(NO3)2 

e. Answer not known 
,e;jpad; rhy;l; gPl;lh; vd;gJ 
a. mk;Nkhdpak; iel;Nul; (NH4HO3)  b. Nrhbak; iel;Nul; (Na NO3) 
c. nghl;lhrpak; iel;Nul; (KNO3)   d. fhy;rpak; iel;Nul; Ca (NO3)2 

e. tpil njhpatpy;iy 

 
123. SO2 acts as 

a. a reducing agent    b. an oxidizing agent 
c. both reducing and oxidizing agent d. neither reducing nor oxidizing agent 
e. Answer not known 
SO2 vd;gJ 
a. xLf;Fk; fhuzp      
b. Mf;rp[d; Vw;wp 
c. Mf;rp[d; Vw;w kw;Wk; xLf;Fk; fhuzp   
d. Mf;rp[Ndw;w fhuzpAky;y xLf;Fk; fhuzpAky;y 

e. tpil njhpatpy;iy 
 

124. Which one of the following process is used for the concentration of Argentite ore? 
a. Gravity separation method   b. Froth Floatation method 
c. Electromagnetic separation method  d. Chemical method 
e. Answer not known 
gpd;tUtdtw;wpy; mh;[d;ill; jhJ ve;j Kiwapy; mlh;g;gpf;fg;gLfpwJ?  
a. GtpaPh;g;G Kiw      b. Eiu kjpg;G Kiw  
c. kpd;fhe;jg; gphpg;G Kiw     d. Ntjpapay; Kiw  
e. tpil njhpatpy;iy 
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125. Which of the following is the ore of titanium? 
a. Rutile  b. Hausmannite  c. Wolframite   
d. Scheelite   e. Answer not known 
fPo;f;fz;ltw;Ws; vJ ill;Nldpaj;jpd; jhJ?  
a. &l;ily;  b. `h];kd;idl;  c. cy;/g;uikl;  
d. rPiyl;   e. tpil njhpatpy;iy 

 
126. Which of the following are carbonate ores? 

a. Cryolite, Fluorspar  b. Bauxite, Cuprite  c. Magnesite, Siderite  
d. Galena, Cinnabar   e. Answer not known 
gpd;tUtdtw;Ws; fhh;gNdl; jhJf;fs; vit? 
a. fpiuNahiyl; /g;Sh;];ghh; b. ghf;i]l;> Fg;iul; c. Nkf;dirl;> rpl;iul;  
d. fyPdh> rpd;dghh;   e. tpil njhpatpy;iy 

 
127. Which of the following is the mineral of magnesium?  

a. Dolamite   b. Kainite    c. Magnesite    
d. Magnetite    e. Answer not known 
nkf;dPrpaj;jpd; fdpkk; ahJ?  
a. Nlhyikl;   b. faidl;   c. Nkf;dirl;   
d. Nkf;dill;  e. tpil njhpatpy;iy 

 
128. Which one is called buck minister fullerene? 

a. Graphite   b. Diamond    c. C60   
d. C90    e. Answer not known 
vJ gf;kpdp];lh; Gy;yhpd; vd;W miof;fg;gLfpwJ? 
a. fpuhigl;   b. ituk;    c. C60   
d. C90    e. tpil njhpatpy;iy 

 
129. Producer gas is a mixture of 

a. CO+N2  b. CO +H2   c. CH4+CO         
d. CO2+H2  e. Answer not known 
cw;gj;jp thA vd;gJ _______ fyitahFk; 
a. CO+N2  b. CO +H2   c. CH4+CO         
d. CO2+H2  e. tpil njhpatpy;iy 

 
130. Maximum Yield of ‘Ammonia in Haber’s process 

a. 97%  b. 67%  c. 47%  d. 37%  e. Answer not known 
N`gh; Kiwapy; mk;Nkhdpah jahhpj;jypy; mjpf gl;r tpisr;ry;  
a. 97%  b. 67%  c. 47%  d. 37%  e. tpil njhpatpy;iy 

 

131. Which of the following is not an insecticide? 
a. Malathion   b. Parathion   c. Isoprene   
d. Diaginon   e. Answer not known 
fPo;f;fz;ltw;wpy; vJ g+r;rpf;nfhy;yp kUe;jy;y? 
a. khyhjahd;   b. ghuhjahd;   c. INrhgphpd;    
d. lah[pdhd;    e. tpil njhpatpy;iy 

 

132. Which of the following chemicals can be used as Rodenticides? 
i. Zinc phosphide    ii. Sodium fluoro acetate 
iii. thallium sulphate  iv. Dithio carbamate 
a. i and ii only    b. iii and iv only    c. i, ii and iii only   
d. All of these    e. Answer not known 
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gpd;tUk; Ntjpg;nghUl;fspy; vitnay;yhk; vyp nfhy;ypahf gad;gLfpwJ? 
i. Jj;jehf gh];igL  ii. Nrhbak; g;SNuh mrpl;Nll; 
iii.jhypak; ry;Ngl;   iv. iljNah fhh;gNkl; 
a. i kw;Wk; ii kl;Lk;    b. iii kw;Wk; iv kl;Lk;   c. i, ii kw;Wk; iii kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
133. The electromotive force of a Daniel cell is 

a. 1.86 V  b. 1.20 V   c. 1.56 V   
d. 1.10 V  e. Answer not known 
Nldpay; kpd;fyj;jpd; kpd;dpaf;F tpir kjpg;G 
a. 1.86 V  b. 1.20 V   c. 1.56 V   
d. 1.10 V  e. tpil njhpatpy;iy 

 
134. Flavonoids mostly accumulate in 

a. Chloroplast  b. Chromoplast  c. Vacuole   
d. Cytosol   e. Answer not known 
/gpshtdha;Lfs; nghJthf jpuz;L fhzg;gLtJ ,jpy; 
a. FNshNuhgpsh];l;    b. FNuhNkhgpsh];l;   c. thf;FNahy;     
d. irl;Nlhrhy;  e. tpil njhpatpy;iy 

 
135. Mangroove plants meet high osmotic pressure in the soil, they overcome the problem of 

water uptake by 
a. accumulation of electrolytes in the vacuole of the cell 
b. increase in the root and shoot ratio 
c. reduce the respiration rate 
d. reduce the respiration rate 
e. Answer not known 
khq;F&t; jhtuq;fs; kz;zpYs;s mjpfg;gbahd M];khbf; mOj;jj;ij vjph; 
nfhs;fpd;wd.  ePh; cwpQ;Rjiy rhpnra;a mitfs;  
a. vyf;l;Nuhiyl;Lfis nry;ypd; fhw;W ntw;wplq;fspy; Ftpf;fpd;wd. 
b. Nth; kw;Wk; jz;L tpfpjj;ij mjpfhpf;fpd;wd.  
c. Rthr msit Fiwf;fpd;wd 
d. ePuhtpg; Nghf;fpd; msit Fiwf;fpd;wd. 
e. tpil njhpatpy;iy 

 
136. Which of the following fact is incorrect about mitosis? 

a. It occurs only in body cells  b. Mitosis has two divisions 
c. Maintenance of 2n chromosomes d. Two diploid cells are produced 
e. Answer not known 
ikl;lhrp]; gw;wpa gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. cly; nry;fspy; kl;Lk; eilngWfpwJ 
b. ikl;lhrp]; ,U gFg;Gfisf; nfhz;lJ 

c. ‘2n’ FNuhNkhNrhk;fs; epiyepWj;jg;gLfpwJ 
d. ,U ,Ukanry;fs; Njhd;Wfpd;wd 
e. tpil njhpatpy;iy 

 

137. Binomial of ‘Vilvam’ is 
a. Acalypha indica  b. Aegle marmelos  c. Cissus quarangulars  
d. Mimosa Pudica   e. Answer not known 
tpy;tk; jhtuj;jpd; ,U nrhw; ngah; 
a. mfhypah ,z;bfh b. Vfpy; khh;kpyh];  c. rpr]; Fthl;uhq;Fthhp];   
d. ikNkhrh g+bfh  e. tpil njhpatpy;iy 
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138. The production of Phyto-Plankton is reduced due to 
a. The burning of hydrocarbon b. Deforestation  c. Depletion of ozone layer  
d. Climatic change   e. Answer not known  
/igl;Nlh gpshq;ld; cw;gj;jp Fiwaf; fhuzk; 
a. i`l;Nuh fhh;gd;fis vhpj;jy; b. fhLfspd; mopT  c. XNrhd; gly rPuopT    
d. thdpiy khw;wg;gLjy;  e. tpil njhpatpy;iy 

 
139. Match the following: 

List 1    List 2   
A. Mimosapudica  1. Photonastic movemnt 
B. Oxalis   2. Seismonastic movement 
C. Drosera   3. Thermonastic movement  
D. Tulip   4. Thigmonastic movement 

A B C D 
a.  2 1 4 3 
b.  4 2 1 3 
c.  2 3 1 4 
d. 3 1 2 4 
e. Answer not known 
fPo;f;fz;ltw;iw nghUj;Jf. 
jhtuq;fs;  mirTfs; 
A. njhl;lhy; rpZq;fp    1. /Nghl;Nlhsh];bf;  mirT 
B. kiyg;Gspr;rhd;      2. rp];Nkhdh];bf; mirT 
C. bNuhrpuh     3. njh;Nkhdh];bf; mirT 
D. Jypg;      4. jpf;Nkhdh];bf; mirT 

A B C D 
a.  2 1 4 3 
b.  4 2 1 3 
c.  2 3 1 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 

 
140. Which among the following is used to treat sewage?  

a. Diatom, Fucus     b. Chondrus, Chara 
c. Chlorella, Chlamydomonas  d. Chondrus, Gracilaria  
e. Answer not known 
fPo;tUtdtw;wpy; fopT ePh; Rj;jpfhpg;gpy; gad;gLtJ vJ?  
a. lahl;lk; /gpAf];   b. fhd;l;u];> Nfuh 
c. FNshnuy;yh> fpshkpNlhNkhdh]; d. fhd;l;u];> fpuhrpNyhpah 
e. tpil njhpatpy;iy 

 
141. In Bentham and Hooker’s classification of plants the number of series and families 

included in the class monocotyledonae 
a. 7 series and 34 families’   b. 8 series and 36 families  
c. 5 series and 34 families’   d. 7 series and 35 families 
e. Answer not known 
nge;jk; kw;Wk; `Pf;fh; tifg;ghl;by; NkhNdhfhl;byplNd tFg;gpy; ,lk; ngw;Ws;s 
thpirfs; kw;Wk; FLk;gq;fs; vz;zpf;if  
a. 7 thpirfs; kw;Wk; 34 FLk;gq;fs; b. 8 thpirfs; kw;Wk;  36 FLk;gq;fs; 
c. 5 thpirfs; kw;Wk;  34 FLk;gq;fs; d. 7 thpirfs; kw;Wk; 35 FLk;gq;fs;  
e. tpil njhpatpy;iy 
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142. In lower organism sometimes the entire mature organisms do not form gametes but they 
themselves behave as gametes and the fusion of such mature individuals is known as  
a. Anisogamy   b. Merogamy    c. Paedogamy  
d. Hologamy    e. Answer not known 
fPo;epiy caphpfspy; rpy rkaq;fspy; Kjph;e;j caphpfs; ,dr;nry;fis cUthf;fhky; 
mt;TaphpfNs ,dr;nry;fs; Nghd;W nray;gl;L xd;wpize;J Gjpa caphpfisj; 
Njhw;Wtpf;Fk; nray; 
a. NtWgl;l nry; Nrh;f;if  b. khWgl;l nry; Nrh;f;if      c. ,sk; nry; Nrh;f;if  
d. KO Nrh;f;if   e. tpil njhpatpy;iy 

 
143. Mutant variety of wheat is 

a. Oenothera Lamarkiana  b. Castor Aruna  c. Sharbati Sonora   
d. Mirabilis Jalaba   e. Answer not known 
rLjp khw;w NfhJik tif 
a. <NdhjPuh yghkhh;f;fpahdh b. Mkzf;F mUzh c. rhh;gjp nrhNdhuh   
d. kpuhgpyp]; [yhgh  e. tpil njhpatpy;iy 

 
144. Streptomycin is active against 

a. Gram positive Bacteria  b. Gram negative bacteria   c. Viruses  
d. Fungi     e. Answer not known 
];l;nug;Nlhikrpd; ________ f;F vjpuhf nray;gLtJ MFk;. 
a. fpuhk; ghrpl;bt; ghf;Bhpah  b. fpuhk; nefl;bt; ghf;Bhpah  c. itu];fs;  
d. g+Q;irfs;    e. tpil njhpatpy;iy 

 
145. The end product of anaerobic respiration is 

a. Acetyl Co-A  b. Ethanol alchol   c. Pyruvic acid  
d. Succinic acid  e. Answer not known 
fhw;wpy;yh Rthrj;jpy; ,Wjpahf fpilf;fg; ngWtJ 
a. mrpily; Co-A  b. vj;jpy; My;f`hy;  c. igUtpf; mkpyk;  

d. rf;rpdpf; mkpyk;  e. tpil njhpatpy;iy 
 
146. The product of two numbers is 120 and the sum of their squares is 289. The sum of the 

number is: 
a. 20  b. 23  c. 169  d. 225  e. Answer not known 
,uz;L vz;fspd; ngUf;fw;gyd; 120 kw;Wk; mtw;wpd; th;f;fq;fspd; $Ljy; 289. vdpy; 
,t;ntz;fspd; $Ljy; fhz;f. 
a. 20  b. 23  c. 169  d. 225  e. tpil njhpatpy;iy 
 

147. 1, 1, 2, 3, 4, 5, 8, 13, 21 - which one doesn't belong to this series? 
a. 1  b. 4  c. 13  d. 21  e. Answer not known 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f 1, 1, 2, 3, 4, 5, 8, 13, 21 
a. 1  b. 4  c. 13  d. 21  e. tpil njhpatpy;iy 

 
148. A cricket team won two matches more than they lost. If they win  they get 5 points and 

for loss − 3 points, how many matches have they played if their total score is 50. 
a. 20  b. 38  c. 42  d. 50  e. Answer not known 
xUkl;lilg;ge;J mzp (Cricket Team) fye;;J nfhz;l Nghl;bfspy;> Njhy;tp 
mile;jij tpl> ,U Ml;lq;fs; mjpfkhf ntd;whu;fs;. ntw;wpf;F 5 Gs;spfSk;> 
Njhy;tpf;F 3 Gs;spfSk; toq;fg;gLfpd;wd. me;j mzp nkhj;jj;jpy; 50 Gs;spfs; 
ngw;wpUe;jhy;> me;j mzp fye;J nfhz;l Ml;lq;;fspd; vz;zpf;ifia fhz;f. 
a. 20  b. 38  c. 42  d. 50  e. tpil njhpatpy;iy 
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149. A tin of oil was 
4

5
full.  When 6 bottles of oil were taken out and four bottles of oil were 

poured into it, it was 
3

4
full.  How many bottles of oil can the tin contain? 

a. 35  b. 40  c. 42  d. 60  e. Answer not known 

xU vz;nza; bd; 
4

5
ghfk; epiwe;jpUe;jJ mjpypUe;J 6 Gl;bfs; vz;nzia 

vLj;Jtpl;L 4 Gl;bfs; vz;nzia Cw;Wk; nghOJ mJ 
3

4
ghfk; epiwe;jpUe;jJ vdpy;> 

me;j bd;Dila KO nfhs;stpw;F vj;jid Gl;bfs; vz;nza; Njitg;gLfpwJ. 
a. 35  b. 40  c. 42  d. 60  e. tpil njhpatpy;iy 

 
150. Find the wrong number in the series : 

10240, 2560, 640, 200, 40, 10 
a. 640  b. 40  c. 200  d. 2560 e. Answer not known 
vz; njhlhpy; jtwhd vz;izf; fhz;f 
10240, 2560, 640, 200, 40, 10 
a. 640  b. 40  c. 200  d. 2560 e. tpil njhpatpy;iy 

 
 


